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<o, SEe WTRAT WAT Cm e FA>%Sep 20 14:11:48:514 2024 e s e W00 LAGG/6/LAGG _INACTIVE OPERSTATE: -MDC=1; Member port HGE3/1/1 of aggregation
group RAGG3 changed to the inactive state, because the peer port did not have the Synchronization flag.

%Sep 20 14:11:48:514 2024 M2 L0L W/UCL L 2L ZLIUU L LAGG/6/LAGG INACTIVE PARTNER KEY WRONG: -MDC=1; Member port HGE4/1/1 of aggregation group RAGG3 changed to
the inactive state, because the operational key of the peer port was different than the peer port for the reference port

%Sep 20 14:11:48:514 2024 1™ W™ *uses oo 2. mse s3ve--- LAGG/6/LAGG INACTIVE PARTNER KEY WRONG: -MDC=1; Member port HGES/1/1 of aggregation group RAGG3 changed to
the inactive state, because the operational key of the peer port was different than the peer port for the reference port

%Sep 20 14:11:48:519 2024 F12. 1. A IFNET/4/LINK_UPDOWN: -MDC=1; Line protocol state on the interface HundredGigE4/1/1 changed to down.

%Sep 20 14:11:48:520 2024 b, so 0o L4 1St A IFNET/4/LINK_UPDOWN: -MDC: e protocol state on the interface HundredGigES/1/1 changed to down.

%Sep 20 14:11:48:521 2024, . S, FowL w5L “<rx 7t rv s IFNET/3/PHY_UPDOWN: -MDC
9Sep 20 14711:48:521 2024 WS- a3 . 25 PGU TN A IFNET/3/PHY_UPDOWN: -MDC-
9%Sep 20 14:11:48:521 2024 P 20U 0 24%-7A IFNET/4/LINK_UPDOWN: -MDC.
%Sep 20 14:11:48:521 2024 ki v 1388 7A IFNET/4/LINK_UPDOWN: -MDC:

Physical state on the interface Route-Aggregation3.41 changed to down.
Physical state on the interface Route-Aggregation3.42 changed to down.

Line protocol state on the interface Route-Aggregation3.41 changed to down.
e protocol state on the interface Route-Aggregation3.42 changed to down.

2, #EFEE, 1§debug link-aa lacpfIHERKEREN, EEENRIIKEIHEOFIHTshutdown
MR, SkiXkey=0RILACPIRY, SEREHHFMUEMIIARHBOEZ—T, BEIEHTNESEiR
OfEup;
*Sep 21 14:19:46:976 2024 MWLAF Dol FROUL M I 0 B0l E) LAGG/7/Packet: -MDC=1-Slot=2;
| PACKET.HundredGigE2/1/1.receive. |
size=110, subtype=1, version=1
Actor: type=1, len=20, sys-pri=0x8000, sySAmac=0024-ac71—5ff pri=0x8000, port-index=0x311, state=0x47
Partner: type=2, len=20, sys-pri=0xffff, sys-mac=0000-0000-0000, key=0x1, pri=0xffff, port-index=0x1, state=0x1
Collector: type=3, len=16, col-max-delay=0x0
Terminator: type=0, len=0
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https://zhiliao.h3c.com/questions/catesDis/498
https://zhiliao.h3c.com/questions/catesDis/934
https://zhiliao.h3c.com/questions/catesDis/576
https://zhiliao.h3c.com/questions/catesDis/588
https://zhiliao.h3c.com/User/other/145
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